EAGRAROBREERT — 2 N— ABISH —F

2020658100 (H) 3EIzER6H

PR o R4EE 2BU5 X

(ER) EE8

‘ [R1&] & ‘ [REBB] — | & (&) 19000 B

[A~&£] 1 7% :11,000,000 § ~ 23 :4,400,000 § 337 :2,800,000 4 3#:1,700,000 § 5 & :1,100,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
117114l 1 >52—t7>a> [B] H 5 él;ﬂlg’riﬂz 1:(5_9).8 10-10-10-7 | 38.6 | 98.0 | 13 (‘—1;2) ﬁ%ﬂﬁifj;¥}i>
:Street Cry B:T7A4 X RU—=Fh H—L—+ JvIN> - Ty—LBRS
= . o5 | AAER— 1:59.8 7-7-5-3 | 39.0| 98.2 | 12 | 478 |EHZE (RR)
ol7]13| FE/37V [B] 57.0 (5€) g | REEX
R:TTvIE4 K BiNZT HES
= o ava BEREET : -11-10- EKEBFN (BER)
3 MECELEES PN ) i o4 BHEN 1(59t§; 11-11-10-6 | 38.8 | 97.2 | 8 (4;0) /J\?g%e
X LTNANAN BH—NF T AT P D E N
on e t> 5 | BREEX 1:59.9 15-15-13-9 | 38.5 | 97.1 | 5 4060 |FHHEZ (FH)
+ 12| AE> K75 — [B] A o) (ay |TENT >
L:N—RZI> B:FvE2554 H—L— - TvIS> - T7— LERSE
5 = 4 4 | MIEBZ 2:00.2 14-12-13-11| 38.8 | 94.6 | 6 512 | EDEE (EH)
5/8l15| V71 IZ 57.0 1 1/2) 46) ) HFreh—NFe TR
R:bh—trhvL ARy B:7X743 J—YTr—LA
=\ 4 o4 | REAR 2:00.2 3-3-2-1 [39.8| 95.3 | 7 468 | HBOMEST (ER)
6(8|16| E-=>7Y >~ 4540 (7¢) (g) | HEE
R RYIYZRIR BE—Z2TT71142R B
o > 5 | BHEF 2:00.3 15-15-15-13| 38.8 | 93.8 | 14 | 446 |&#® (ER)
7111112V 7 ARz 57.0 (7E) (1) | AT
LA N=3I2TFR—L B:TrLyZ H—L—- T vy T7—LARS
= ; # 7 | BERX 2:00.3 12-12-15-13| 38.7 | 93.7 | 11 512 | BKAR (FH)
8|59 | F7ANL=T 57.0 F759) o |HEH
LNNVTSY BEFRTCTA)ZR TH A
. . #H o4 | AHEF 2:00.4 4-5-5-3 | 39.7| 93.5 | 2 504 | PIAItE (3EER)
oY 5 EvFIvY 57.0 (1/2) Lo |HREB
LANT =TI BRTA NTIVINL FUR=F 77— In
= S o4 | BEPR 2:00.6 6-5-4-3 | 40.0 | 92.1 | 1 472 | BAEE (ER)
1w0fJ11| 7 TTL7HLY ¢ 57.0 (1 1/8) o) |EER
RV RKYZYRAIR B:5>TUV v X ESliEe
~~ S o0 st 7 | DIEEREX 2:00.7 12-12-12-11{39.4 | 90.7 | 16 | 476 |At&S4 (RR)
11 3| 7UV—-XXZXAH 57.0 (7€) (-p) | KBS
L:ANXZATNYG B:Ea—-Fsa72F AARPRERE = ASE RS
a7 o6 | EHEBZ 2:00.7 8-8-7-9 [39.7| 91.0 | 15 | 500 |FREHEFT (ER)
12 4| ET0OT— 57.0 (zE) ) ?EWJ
Z:vA7x B:L17y R EZHTT—L
= A : o7 | WHEE 2:00.8 8-8-7-7 [39.8| 90.2 | 4 486 | HEH— (FR)
135|10| 77 1 v 7/ —F 57.0 (7€) Ca) |SEEE
LN—=VT54 B:ovIvL 2SI Sz e
gy — > 5 | BEFbEt 2:00.9 2-2-1-2 | 40.5| 90.1 | 10 | 494 |PAKRE (FER)
1Pl g | P71 —= %56.0 (3/4) we) | ) 5—7 - ZE— 1k
LA TATv— BFUIFIIES ESlite
. 4 o5 | BHBZ 2:02.0 4-4-7-13 | 41.1] 81.9 | 9 480 | PRERE (FEx)
15/11] 2 JAa-1> 57.0 @ (+10) GRILT 1>
L:ZAFAd—I K B:A—2L2071— H—L— - JvIN> - Ty—LBERR
= o 4 4 | FEXH = 1-1-2-16 = = 3 514 | BRE (FX)
EH 6| *7~ 57.0 (k) (+6) | HLeA
L:T7NTFNZL2 B:ixino-X Bl 1EE
@ 71 L
) 52.3-39.4
NA>Z4 L | 6.9-10.9-11.4-12.8-12.7-12.8-12.9-12.8-12.9-13.7
® I —F—@EBIERL
13—7+— (x6,8)16(2,5)11,13(4,10)14-7-(3,9) 15-(1,12)
2o =7= (x6,8)16,2(5,11)13(4,10)-14-7(3,15,9) (1,12)
Gal=7r= 8(6,16)11(5,13) (2,4,10) (14,7)3(15,12) (1,9)
40—+ — (8,%16) (5,11,13)7(10,14) (4,12) (3,15) (2,1,9)=6
[ N3
B O 14 5,060/ 714K 13-14 16,810 e E 7-7 63,320 RPEL:] 7-13-14 398,210MH
BB 14 1,450 7-14 10,240M B = 13-14 60,980M K31 14-13-7| 3,375,570H
13 1,100 7-13 7,500 | | B B 14-13 210,540
7 500M

ABRICOVTHRTEEERROODE, THEB LS,




